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2025/4/25
BSA 41% BSB 38% BSC 18% GSA 57% GSB 43% GSC 17% i214%

Seq HIARE [E= K% RN IAVAN FE
1/ACCZF=FEI/I BSA M BB OhHrv wH D 6
2|ACCZ=F=EJII BSA EEE onrsr KL 6
3/MACHI1 BSA EEER 05 LLHE 6
4|NP Rallies BSA Agarwal Atiksh HHr—>6—5% HTu{-Lw 6
5|NP Rallies BSA Raja Vithesh Raja Rajesh | L7 wTxlw HL»5Lzxlw 5
6|1>74=74— |BSA TR B TEHE VDUE 6
TN\Y¥roa X |BSA BAR BX ZADbHE FAT 5
8| Y¥r 47X |BSA N e SHbE b 6
9> ¥ b7 —=XE)Il |BSA BE Kt hEh FFUE 6

10|+ b7 —XF)II |BSA &R PR IED MiFB 6
11> % b7 —=XFJI |BSA B0 7= HEZFE 5
12|vyL14aBC BSA By 4L Z2 R DDOXRE Z 6
13|74 X7~ BSA 1B A% LD HBL 6
14|74 X7~ BSA T 188 LADWL & 5
15|74 X7 > BSA TN EE =iFob UBA 5
16|74 X7 BSA A R 132X FTAT: 5
17BT=>a2=7 BSA AR +E BBE &5F 6
18|BL=>a2=7 BSA 2 H BARER <tz LwAfzbd> 6
19/ f@m 2 =7 BSA L & PESH WD 6
20|y 2 =7 BSA Ll & PEIE FIFD 6
21|8REEF v X BSA BE K& Bmrs Fnz 6
22|REF v X BSA LR A PELE LwAL 6
23|kBnya=7 BSA Bi B2 DLB ALt 5
LD o iy BSA TR 188 7=iFE $5 = 6
PASID o Ry BSA NS BN HBE 6
26|//NEY 2 =T BSA T MR Thbe E£H 5
21N FP 2 =T BSA EAEXR HhEY) FS57 6
28| 2 =T BSA AT BB X 6
PASHY o e Ny BSA NI ZHh Wkl 6
0| FREY2=27 BSA (PN G 7=iFwy 5L 5
3| FREY 2 =7 BSA KR BA DOHIEL B L 5
2\BHY 2 =7 BSA Hr % =hh Fhe 6
3B3HTHY 2 =7 BSA BT K E B FALE 5
UWNEFP 2T BSA EH K% R VDAHE 6
BINEFYa2=T BSA Pih =R B %25 5
6INEFY 2T BSA FIRIR £& HIEZTA FTWT 5
3 WINY2a=7 BSA EF B FO0 NAEAS 6
38|WT =T BSA Bi5 =& =hiEl 25720 6
PEAKEY 2T BSA ek & TED NA 6
40|28 v FILX BSA RFE & LLE Lzxw 5
A1 ET PV R BSA 2R & A LAL 6




1|ACCZ=F=EIII BSB BRER BBk E-&l Ik 4
2|ACCZF=EIII BSB BB HEDH W& 3
3|MACHI1 BSB R MR LoEs W& 4
4|MACHI1 BSB AN Ay ITE o & 3
5|NP Rallies BSB Kabir Lahoti NUB HIETL 4
6|41~ 74=74— |BSB 7N TEHLE HPpE 4
T\ U¥>roa X |BSB WA Bk Fob& LW 3
8| ¥ 2 |BSB KA B BEWIF 20T 4
9% b7 —XFJIl |BSB 1EBE B xEo UKL 4
10|+ b7 —XE)Il |BSB Rout Souveet byE FT-Uo¢& 4
11|7=7% L MAX BSB EEN B8 LEn #BEHD 3
12|7=7% L MAX BSB HH E ¥ Lo 3
13|74 X7~ BSB I K 0AE XFL 4
14|74 X7 v BSB B FE HhEE LA 3
15|74 X7 > BSB T RE 2L Z95% 3
16|74 X7 v BSB 818 =+ WERAE Yok 4
17|fBL=> 2 =7 BSB EF EX ) AR e cl 3
1I8|fBLEY 17 BSB = K bz LW 3
9BIEY 2 =7 BSB REA A CEBHE T 3
20\f@H > 2 =7 BSB La PPECHE LA 3
QI IF&8Y a=7 BSB A% A FATE ZH58 4
22827 BSB ERBE CHiEn 2wk 4
23/ YaT BSB Ealaa:uR A 2LWO L A 4
2//INEY 2 =T BSB F0 3 DL L&D 4
25|\ 2 =T BSB AR —%* DERY WoID 3
26//NET 2T BSB R H #A5R Lo =KX 3
P AV Rty BSB s F A bzt~ Yox 4
28|22 =T BSB R &= I Fune 4
AL = iy BSB =18 G HRNE ZHTIUS 4
0| FREY2=27 BSB = th— 2o Wwounb 3
3l Ey a7 BSB WH S HoW bhi=b 3
2\BHY 2 =7 BSB T 5 BN oLhart AW IUF 4
BINEFY2=T BSB XE B BALE HE 4
34\ @Y 2 =T BSB LA e PELE ZOFIUF 3
BIFEREKS 2 =T BSB BefE F14 DH>F HMTE 4
6|FEARRY 227 BSB =3t Ak 7=hoL 29 4
3NEARRY 2 =7 BSB K A Bunrbh =< 3
38| MET KN R BSB S SRR ER ILEITE WL H7AHS 4
1l¥&%vyF=&jr |BSC BTFEE bz WAL 2
2|74 X7 BSC AE=S 7ZiFHb Hue 2
3|74 X7 BSC KB B BALE HEO 2
ABIEY 27 BSC Kk FEA BBIL wue 2
S5 BI=>a2=7 BSC Wk #1522 eSS UKL 2
6|y 2 =7 BSC AR K BB FrEHN LA 1
TR 27 BSC BE B T35 T=hikB 2
8|ERY 1T BSC HE & Loz Z5L 2
9N Y2 =T BSC O &R HECHL 257 2
10N EY 2 =7 BSC = R UBEEN A 2




11|58y 1=7 BSC "EE EeL 5% 2
12|58 2=7 BSC AH ETHN 07 CwADTIS 2
13| FREY2=7 BSC TR A ohES =<K & 1
14| EY 2 =7 BSC AR KE wWLdb & 7z0vb 2
15\ BfHY 2 =27 BSC E = HhET Fhe 2
16| @Iy a=7 BSC g K& LD VAD 2
17| E 7 KN v R BSC B R DIFN 3B E 2
18|ET K/ R BSC JNET 1B hho Hn 2
1|ACCZF=EJI GSA RN F R SO HEBB 6
2|ACCZ=FE)I| GSA B =R HEDH RO 6
3/MACHI1 GSA AN &E B3 A 6
4|MACHI1 GSA T ISR HoEE WEH 5
5/NOCKS GSA KT #His EDOLE EFW 6
6|RSTY 2 =7 GSA Avani Rao HITHIZ BB 6
TYYro47 2 |GSA EB D Ehtt HIE 5
8| ¥ X |GSA w3 EL Lol AE 6
9% b7 —XZEI |GSA TR Z Hign HWY 6
10|vLA42BC GSA FH KK mhts £ 6
11|7=7 L MAX GSA EEN BE LExLn 50 5
12|74 X7 > GSA AKH #3 BB &b 5
13|74 X7 v GSA 2 BE iZenrh HhY 6
14|74 X7 > GSA MR BER Bhrbe £ 5
15\ BT =% a2=7 GSA TRk EXET heED SHD 6
16|JlBT=> 2 =7 GSA =11 HRHH  ITIE 6
17\fg >y 2 =7 GSA LN FOLE S& 6
18|fE >y 2 =7 GSA Hr fi4 3 Tl WYp 6
O IFEYa=7 GSA K% &8 AT DDH 6
20EHFY2=T GSA 2% B5 FLD F£& 6
Q1 ENEFEY2=7 GSA =R Z( HPS5H WAL 5
2R/ YaT GSA NG FoES Fxon 6
238y azT GSA NEFRE TS Bog HI% 5
208227 GSA FER e <HEs HhRT 6
B ERY AT GSA FEER WD SR ARH 5
268227 GSA Al EX WwLabh Fu 6
P AN Ry GSA NS BHEIE HZhn 6
28|/NEY 2 =T GSA ok B HhIo FhaHk 6
29/NFP 2T GSA ZH B PR S5 5
0N FY2=T GSA NI wWhxE =& 5
31N FEY 2T GSA =f B HI DR 6
YAV 5 e iy g GSA fFeER BRfE nw<eL hEh 6
BEHEY 2T GSA AL FiTiE wWU»xE Uk 6
34\ FEBY =T GSA IN: I ZWT YA 6
3B BB =T GSA Tk BR TED IR 6
36|5EY 27 GSA R ME LB bhi 5
37 FHRAEY 2 =7 GSA BER ikmbh E£H 5
I FREY 2=7 GSA G BEETF WLED Wz 5
P2 =T GSA Yl e} LS HEZX 6
At 2z7 GSA A RR HoW\ hAR 5




Al b2 =7 GSA R B WwWLdbe FHY 5
A2|BTHY 2 =7 GSA rH EH HPbiz Ui 6
A3|ATAY 2 =7 GSA % 1z 7=bidh HeH 6
A AT 2 =T GSA TE B 2hHP LH R 6
ASINEFYa2=7 GSA ERA ER SERE ATT 6
AB\NEFY 2T GSA EAR TRk 7=hE BL 5
AT|RINY 2 =7 GSA FHE =W ShhH Bl 6
48| NP 2 =7 GSA HEE ShEhH Hri 6
49 BB ILy 2 =7 |GSA 20 B <hldfz ik 5
50| M ILY 2 =7 |GSA = BR HI Wi 5
SlLIEARERY 2 =7 GSA BT IR DELH  IFAR 6
B2|EARERY 2 27 GSA KA BH BBIL W5k 6
B3BEY v bR GSA BRE £F W DEHR 6
S4|2ES v hILX  |GSA AH B3 WL 0FY 5
55 [fEE 7 K/ R GSA TRER MEIR SHLCL B 6
56|ET K/ X GSA BT $a& DRIZT Heh 6
BTRET K/ R GSA B5E S A hoEh S H 6
1/ACCZFFE)II GSB HEEX Lok AR 3
2|MACHI1 GSB N EF Tl HE 4
3IMACHI1 GSB L 3B 4 Rk Ob¥E HYYX 4
4 *&XyFaEjr |GSB KR ER BEhbo HiED 4
5lHH v X |GSB 28 F0 <hiEn Y 4
6| Yo IZ |GSB EH InE Ihft HTE 4
7\o% b5 —XE) |GSB = ¥ E HAT 4
8|+ k3 —XF/ |GSB B TE NEIFT Ik 4
9|7=7% L MAX GSB PR HEAZ ZIERPL Wwe 4
10|74 X7 > GSB N/ &5 WAKRH HED 4
11|74 X7 > GSB INRER I/ XE 4
12|74 X7 GSB WNEEE ZrE 6 4
1BBI=Y2=7 GSB Bl A 7=hrE oL 4
14|Fy 2 =7 GSB AL e TN IR 4
15| fE >y 2 =7 GSB AR 75 H IFATE HEH 3
16|ERFY 2 =7 GSB =l FERE HPITE DLy 4
1788227 GSB EiE KA hizla~N & 4
18|/ 27T GSB £ P L w3k 4
19882227 GSB B OF LE ZZ 3
20(/NFEY 2T GSB HTAR DY M LYHE BYn 4
21\/NEY 2 =7 GSB P FIMESR L Yok 3
22//NEY 2T GSB Ay F# WXxx B 3
23NV 2T GSB FEE AL WiE Zon 4
20\/NEY 2 =T GSB NEFE BIR Fosh YIF 3
B 2T GSB GEHELEY WL Lsy 4
26|42 2 =7 GSB &l 1% SLBEL o 3
21|58V 1=27 GSB AR MEE <IE oy 4
28|52 =7 GSB b8 E=4 xzLE AL 4
295127 GSB 18 ER xhLlE AT 3
30|51 =T GSB INBIR BZFR 2LE 3
31|ZEEY1=7 GSB AR BRF] iCLe HHY 3




R2|FREY 27 GSB NS FoEL DED 3
BFHRAEY2=7 GSB LT BBk PELE I 3
34|BTAY 2 =7 GSB Fhm HR THeh LE 4
Bl@Iya=7 GSB kg Hh Y LD HHY 4
36|@I>Ya=7 GSB I A IThbh DHH 4
3TNEARERY 227 GSB oAl S nhhh &S 3
38| FERFRY 2 =7 GSB b 14 Iybyod VCLAW Ho&550 3
39|2g> v FLX |GSB iS=R:10S TWD HEO 3
4028 v bLX  |GSB {EE =8 AN S 3
411828 > v FILX GSB FHEF o b &z 3
A2 EET KRV R GSB R LEE ZAED  AlEh 3
A3/ ET KN R GSB EE B bz~ v 4
1|ACCZF=EJI GSC RA fehE b KBHH 2
2|ACCZFEJII GSC EE =] LhL bh 1
3|MACHI1 GSC FEEy B O HPUY 2
4|MACHI1 GSC Tl B4 UbvE T 1
5| ¥ sx |GSC R BHE CAL 1Fonr 2
6|7-7 L MAX GSC Ha Frx TmR b E 2
7|7=7% LMAX GSC FEE B TES 2
8|74 X7 GSC fgiE & WA E dH 2
9TA X7 GSC FNE &7Th WARH (E50D 2
10|74 X7 > GSC Fe IF Z57=h HL 2
11ER/Y 2 =7 GSC 2 1P EFL WA 2
12N 2 =7 GSC TE & LHbZ & AW 2
13|\ EY 2 =7 GSC e BHE X AHDY 2
14828 2 =7 GSC B O IR DL 1FD 2
15|BTHY 2 =7 GSC 5 B bbbz UE 2
16| Bl 2 =7 |GSC = R A X 2
17|28> v FILX  |GSC TE TiiE Lbse HHY 2




